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CHEMISTRY

In which of the folloWing pair, each
- member produces the same gas ?

(4) K, KO,

(B) Na,Na,0,
(C) Ca,CaH,
- (D) Ba,BaO,

The volume strength of 1.5 N H,0,
solution is

(A) 4.8 litres

(B) 5.2 litres

(C) 8.4 litres

(D) 8.8 litres

In which of the foliowing, the ratio of
the sizes of cation to anion is smallest ?

(A) NaCl
(B) KCi
(C) MgCl,

" (D) CaF,

A solid ‘x” on heating gives CO, and a
residue. The residue with H,0 form ‘y’.
'On passing an excess of CO, through ‘y’
in H,0, a clear solution of ‘z’ is
obtained. On boiling ‘z’, ‘x’ is reformed.
X is: :

(A) Ca(HCO,),

(B) CaCO,

(C) Na,CO,4

(D) K,CO;

Which is the most basic oxide ?
(A) ZnO

(B) MgO

© ALO;

(D) N,O,

6.

10.

11.

Al,0, becomes anhydrous AICI, upon
heating : :

(A) with NaCl

(B) withdry ClL, +C

(©) with Cl,

(D) with dry HC! gas

Which of the following is not formed ?
(A) NCI;

(B) AsF,
(©) SbCly -
(D) PF,

The product of NH, — NH, + H,0,
Ca2+ '
—is

(A) O,

(B) H,

(©) NH,4

(D) N,

The color of liquid O, is
(A) pale yellow
(B) pale blue

(C) green ,
(D) red . -

The basicity of H;PO; is
A) 1

(B) 2

© 3 ‘

(D) None of these

CrO, dissolves in aqueous NaOH to give

(A) Cr,0F

®) Croy
(C) Cr(OH),
(D) Cr(OH),
BIMCS-
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(A) K,KO,

'(B) Na,Na,0,
(C) Ca,CaH,
(D) Ba, BaO,

2. 1.5NH,0, e % st o ¥
(A) 48X |
B) 527X
(C) 8.4 X
(D) 8.8

3 _ﬁmﬁﬁ%&rﬁw'mm%s

RIS ST G HH ¥ 2
(A) NaCl

(B) KCI

(C) MgCl,

(D) CaF,
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(A) Ca(HCO,), -
~ (B) CaCO,
(C) NayCO,

(D) K,CO,

5. aﬁ#mmm%v
(A) ZnO

. ® MO
(©) ALO,

(D) N,Os
BIMC5

10.

11.

Al o3wwnﬁm#wwmcz3
s

(A) NaCl%

(B) YFCL+CHTT

(€) CL%¥™

©) YTHHCIWF T

f= ﬁ ¥ P T = w2
(A) NCIg :
(B) AsFy -

(C) SbClg

(D) PF

o Ca?* ’
NH, - NH, + H,0, —— #I SR &
@wo,
® H,
(©) NH,
®) N,

MO, FMTeME

- (A) T e

(B) ¥t Ao
€ &
(D) =

H,PO, t it &
@A 1

® 2
©. 3
(D) T A g 7

CrO, Sicfa NaOH & qer 2 &
(A) Cr,02

(B) Cr0}

(©) Cr(OH);

(D) Cr(OH),



12.

13.

14.

15.

16.

The following ion in its aqueous solution
is colorless :

(At. no.
Mn = 25) :

(A) Sc3t
(B) Fe?*
© T*
(D) Mn2+

Sc-21 Fe-26 Ti = 22,

The oxidation number of Ni in
[Ni(C,0,),1* is

@A 3

B) 4

©<C 2

D) 6

Which of the foIlowmg is an optically
active compound ?

(A) 1-butanol

(B) 1-propanol
© 24chlorobutane :
(D) 4-hydroxy heptane

In sodium fusion test of organic
compounds, N is converted to

(A) NaNH,

(B) NaCN
(C) NaNoO,

(D) NaNO,

Which one of the following is called
inorganic graphite-?

(A) B
B8) B,C
(C) B,H
(D) BN

17.

18.

- 19.

20.

21.

Glass +HF — 7
(A) SiF,

(B) H,SiF,

(©) H,Si0,
(D) NaAlF,

How many Chiral C are there in B-D - [
(+) — glucose ?

A 5
B) 6

© 3

D) 4

Which is the strongest acid ?
(A) CI-CH,-CH,-0OH

.~OH
R OH
A NO,

OH
~ ~CHs

This compound forms a sodium salt
upon reacting with NaNH, '

(A) CH,
(B) CH,NH,
(C) C¢Hy
D) C,H,

‘What is the electrophile when RCI +

AlCl3 are used in Friedel Craft\reaction ?

(A) CIt
(B) AlCI,

© R*

(D) AlCl;

BIMCS



12.

13.

14.

15.

16.

ot T o el e o A
(W] 71 : Sc = 21, Fe = 26, Ti =22,
Mn = 25)

(A) Sc3t

(B) Fe?*

©) Ti3*

D) Mn2+

Ni @ [Ni(C,0,),1+ & i dem

T

(A) 3
®B) 4
© 2
® 6

et & & @ 1 eerer A A ¥ 2
(A) 1A=

(B) 1-HHw

(C) 2-FwReg

(D) 4-FTEgiedl 8

WW%@WWWI&N
T uRafa s s Y

(A) NaNH,
(B) NaCN

(C) NaNO,
- (D) NaNoO,

et & @ W SR A A Y

(A) B
(B) B,C

(©) B,H
(D) BN

BIMCS

17.

18.

19.

20.

- 21

. HHg+HF -7

@) S,
(B) H,SiFg

(O H,Si0;

B-D — (+) — It & i R C €7
@ 5 | e

(B) 6

© 3

D) 4

B HEeTaH A& 2
(A) ClI-CH,-CH,~OH

OH
NGO
© @: e e .
NO, . . .
OH
CH3

aztﬂﬁmNaNHza?m aﬁrﬁmaﬁw

(A CH,

(B) CH,NH,
(© CgHg

@) C;Hj

WA we s ¥ RCL + AICL %
IET TR W BA RIS

(A) CIt
(B) AICI,
© R*
D) Alcr;



22,

. 23.

25.

26.

27.

»Nylon-6 is made from

(A) Isoprene

(B) Adipic acid
© Caprolactam
(D) Styremne

Which polymer has different type of
bond between monomers from the other ‘

. three ?

(A) Cellulose

~ (B) Wool

© Sikk

(D) Nylon

In Buna-S, S stands for
(A) Sulphur

(B) Soft

(C) Styrene
(D) Sodium

Which one is incorrect name ?
(A) Propyne

B) .But-2-yne

(C) Pent-3-yne

(D) But-1-yne

| Lewisite, a war gas, is made by reacting

CH = CH with ~

" (A) HCN

(B) HCI

(©) AsCl

D) Oy

v - CH,COOH

The product of CH = CH _Hz"_) :

. . g
18 ,

(A) CH,=CHCI

(B) CH,;CH(OOCCH,),

(C) CH,CHO

.(D) CH,CH,CHO

29.

31.

32.

33,

(C2H5) 4Pb is an example of
(A) Negative Catalyst :
(B) Positive Catalyst

(C) Solvent

(D) Fuel

Which metal is used asa part of cata.lyst
in Fischer — Tropsch method ?

(4) Mn

- (B) Co

(C) Fe.

@) Pt

* The octane number of this a]kane is 100 :

A) 2,2, 4-Trimethylpentane
(B) Hexane

(C) Heptane
- (D) Butane

Identify organometalic compound(s).
(A) CH,ONa

(B) C,H,SNa
(©) CH,Mgl

(D) Al

Which one is called Weslrosol ?
(A) CCl4

(B) CCl,=CHCI
(©) CHCly

(D) CHCLCHCL

C+X +Sn

—Y THCT CH3CH20H Xis

(A) NaHS
(B) NaNO,
(©) AgNO,
@) AgNO,
BIMCS .



22.

23.

TAT-6 TR T AL

(A) FEEHA
(B) ufsfis et
(C) R
(D) A

g Tget® F THeHl § Tt oW § B

qGE?

(A) deRT
®B) A
© foes
(D) A=AR

FALS W S TR TAF L :
(A) TR

(B) TeEH
(C) wadH

(D) wifeaw

25.

27.

I | AW o € 2
(A) WA

(B) ==-2-3
(C) U=-3-3/A
(D) =-1-FA

T, e N M IMCCH=CH ¥

| e Afufear gry s %
(A) HCN

(B) HC!

(C) AsCl

@) O,

CH,COOH
CH= cn-—-———mraam%

Hg™
(A) CH;=CHC!

(B) CH,CH(OOCCH,),
(C) CH,CHO
(D) CH,CH,CHO

BIMCS

29.

31.

32.

33.

(C,Hs),, Pb T6% ST ¥ :
(A) TS ISE

(B) AT SORE

(€) Taors

(D) A

iR - gmﬁﬁ:ﬁaﬁﬂﬂwm'ﬂ
iy AT 2
(A) Mn

B) Co .
(C) Fe

D) Bt

T ToaH W ST GEm 1008
A) 2,2, 4;@%@1

(B) ¥

(C) T

(D) A

mﬁmmmﬁﬁﬁaﬁ
e |

(A) CH,0Na

(B) C,H,SNa

(C) CH Mgl

(D) T

e IR T E?
(A) CCl,

(B) CCl,=CHC!

(C) CHCI,

(D) CHCI,CHCI,

H,0

+
+X vy 0, CH,CH,0H, Xt

+HCI
(A) NaHS
(B) NaNO,
(©) AgNO,
(D) AgNO,



3s.

37.

39.

X + Bry — CH,CH,Br + a gas + a salt.
Xis .

(A) CH,CH,0OH

(B) CH;COONa

(C) CH,CH,SH

(D) CH,CH,COOAg

Which is hygroscopic, sweet in taste and.

non-poisonous ?
(A) CH,OH

(B) CH,OH - CHOH - CH,0H
(C) CH;0CH;
(D) CH,CH,0H

" Which 'is ‘'used as a solvent during

reactions with Grignard reagent ? -

(A) C,H,0OC,H;

(B) C,H,0H

(©) C,H,NH,
D) ccl,

This is added to ether to test its purity :
(A) C,HsONa
(B) KI
(©) KCI
CH, CO\
il o
©) CH,CO/

This is oxidized to prepare methyl ethyl
ketone :

(A) 2-Propanol

(B) 1-butanol

(C) 2-butanol

(D) t-butyl alcohol

This does not convert a ketone to an
alcohol :

(A) ZaolHg + HCI
®B) Ni
(C) LiAMH,

(D) NalHg+H,0

10

41.

The number of isomeric aldehydes for
CsH,Qis '

(A) 2

" @B) 3

© 5

D) 4

Which is a mixed ketone ? .

.. (A) Propan-2-one

42.

- 43,

(B) Butan-2-one

(C) Pentan-3-one

‘ (D) None

This does nbt react with Fehling’s
solution :

(A) CH,CHO
(B) (CHy),CO

©) HCHO
(D) HCOOH

This does not undergo aldol
condensation : '

(A) HCHO

(B) CH,CHO

(C) CH,COCH,

(D) CH,CH,CH,CHO '

Acrolein is
(A) Ketone
(B) Aldehyde
(C) Polymer
(D) Protein

FeSO, + H,0, is called
(A) Fehling’s solution
(B) Benedict’s solution
(C) Schiff’s reagent
{D) Fenton’s reagent.

BIMCS



35.

37.

38.

39.

X +Br, » CH3CH2Br+Q€FﬂH+Qﬂo‘W
X¥:

(A) CH3CH20H

(B) CH,COONa

(C) CH,CH,SH

(D) CH,CH,COOAg

2 sk, w7 it Shder

(A) CH,0H )

(B) CH,OH - CHOH - CH,0H

(C) CH,OCH,

(D) CH;CH,0H

B9 fred s # st #
foetas & =9 o v Rpr ST & 2

(A) C,HOC,H;

(B) C,H,OH

(C) CH{NH,

(D) CCl,

| ﬁs@éﬂrﬁw@rﬁwm‘hﬁm

T Sl T 2
(A) C,H;ONa

.(B) KI

(©) KCI
CH, CO\
@) CH,CcO/ 0

mmﬁﬁﬁaqﬁa%m
gy
(A) 2-3s

B) 1=

(O) 2-=g

(D) t-F[TRA Tehierer

u?waﬁaqiﬁ@mhﬁ'qﬁaﬁa,

ﬁm:

(A) Zn|Hg + HC!

®) Ni
(C) LiAH,

(D) NaHg+H,0

BIMCS

40.

41.

42.

43.

45.

CH,0 ¥ fw @ do & gom
ufrerzs wva ¥ ;

(A) 2

®) 3

©) 5

D) 4

ﬂ#m@ﬁf&aaﬁz}q%?
(A) WNR-2-30 -

B) A2-3
(C) IRA3-3T

(D) aﬁéq’hﬁ E

Wﬁwfiﬂwf’amﬁ%mmﬂﬁm
(A) CH,CHO

®) (CHp),CO

(C) HCHO

(D) HCOOH

(A) HCHO o
(B) CH,CHO

(C) CH,COCH,

(D) CH,CH,CH,CHO "

THIE &
(A) ®R\
(B) ufeeeRs

(C) =go™
(D) Piric)

FeSO, + H,0, T &

(A) wEfer e
(B) aAfewe faeraw

©) P s
D) ﬁr—aaﬁﬁsﬁa»'



- 47,

49.

50.

mof(o“ X
CH,ON ~

The comy ;unds
HC/ po

Y
X and Y are respectively

(A) CH,CH,NH,, CH,COC!
(B) CH;CONH,, CH,CH,CI
(C) CH,COOH, CH,CONH,
(D) CH,CONH,, CH,COOH

Dry distillation of (CH,COO),Ca

produces
(A) CH,COOH

(B) CH,CHO
(C) (CH,),CO
(D) CH,;COOCH,

Electrolysis of a concentrated aqueous

solution of a compound gave C,H, on
anode. The compound is
(A) CH,COOK

(B) CH,CH,COOK
(C) CH,COOC,H,

(D) CH,0CH; -
. 10 o} :
The product of CO + NaOH —2——9-9 is -
10 atm
(A) €O, |
‘(B) CH,COONa
(C) HCOONa
(D) CH,

2

The compound insoluble in acetic acid is
(A) CaO '

(B) CaCO, -

© % \ca
coo/

(D) Ca(OH),

12

51.

‘52,

53.

55.

56.

57.

© 15

Alkaline hydrolysis of an ester is called
(A) Neutralization
(B) Esteriﬁcation

"~ (C) Polymerization

(D) Saponification

What is biuret 2,
(A) CH3C0NH2CH3

(B) NH,CONHCONH,

(C) NH,CONH,
(D) NH,0H

What is grape-sugar ?
(A) Starch

(B) Glucose

(C) Fructose

(D) Sucrose

How many Stereoisomers glucose has ?
A 10 - (@®) 13

D) 6

What is  the

bond between

- monosaccharides in starch ?

(A) Glycosidic
(B) Peptide

(C) Phosphodiester
(D) Ester

Glucose reacts with
(A) Schiff’s reagent

- (B) Phenyl hydrazine

(C) NaHSO,

(D) Bry+H0

Which one is an aldoketose ?
(A) Fructose -
(B) Glucose

(C) Maltose

(D) Starch . -

BIMCS



- 46.

47.

49.

50.

(&

08, X
e
CH,CN

T,
E2 o S
(A) CH,;CH,NH,, CH,COC!
(B) CH,CONH,, CH,CH,CI
(C) CH,COOH, CH,CONH,
(D) CH,CONH,, CH,COOH

(CH;C00),Ca % ¢ AW W IR
T E -

(A) CH,COOH

(B) CH,CHO .

(C) (CH,),CO

(D) CH,COOCH,

wF At & a o e & fEE-

YA W TS WC,H, Tt 1 s &
(A) CH,COOK

(B) CH,CH,COOK

(C) CH,COOC,H;

(D) CH;OCH,

210 °C _
CO + NaOH ———— H SR &
10 atm _

(A) CO, |
(B) CH,COONa
(C) HCOONa

) (D) CH4

& A Telifess et & Y e ;
(A) CaO
(B) CaCO,
COO \
Ca
coo/
(D) Ca(OH),

BIMCS
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51.

52.

53.

54.

5S.

56.

57,

TR BT AT ST 3TIeT FEAT &
(A) IO :

- (B) T=AEO

(C). TEETDIHT
(D) e

TE L ?

(A) CH,CONH,CH,

(B) NH,CONHCONH,
(C) NH,CONH, - -

(D) NH,0H

TSR T € 7
A) '=

(B) R
(C) W=
(D) G

W%‘ﬁﬁ#ﬁfmm%?

(A) 10 L

(B) 13
© 15

@ 6

e i AT 3 e B T A
& C

(A) TEHNERE

(B) UerET

(C) WITHIEIEIRY

D) T

(A) Tow afieds
" (B) S EES

(C) NaHSO,
(D) Br,+H,0

P TH TWIHRA § ?
(A) W -
(B) T®E
(©) ueAT

(D) w®=



. 58.

59,

61.

62.

63 L

The formula of Vitamin ‘C’ is

(A) GoH,;0:N

(B) C6H806

© C(L;HSNO2 ;

(D) C,oHgN;04

This is not water soluble vitamin‘:

(4 D
®) C

(© B,

(D) Folicacid

The deficiency of this vitamin makes it

difficult to see in dim light :

“(A) A

(B) B

© C

D) D

This vitamin is less.' available to
vegetarians :

(A) A

(B) By,

© B,
® ¢
In the benzene sulphonation, the acuve

specie is
(A) HSO;

~ (B) SO,

©) SO,

@) SOy

Benzene has

(A) 3 delocalized electrons
(B) . 4 delocalized electrons
(C) 6 delocalized electrons
(D) 12 delocalized electrons

14

N 65.

67.

This is a meta directing groip in mono-
substituted benzene during substitution

‘reactions

(A) -C=N -
(B) -NH,
(C) —-OH
D) -0

An  organic compound contains
C =40%, H = 6.66% and rest is oxygen.
The empirical formula of the compound
is '

(A) CH,0

(B) CHO
© CHO,
(D) CH,0H

Paper chromatography has following
mobile ~ and stationary phases
respectively :

(A) liquid, solid

(B) solid, liquid

(C) gas, liquid

(D) liquid, liquid

In Lassaigne’s test, the following reagent
is used for testing the presence of both
N&S:

(A) AgNO, -
(B) FeCl,
(€) Na)S
CH, COO \Pb

D) CH, CO0 /

For a second order reaction
1

if the concentrations of

X
“a(a-x)
two reactants A and B are

(A) [A]=[B]

(B) [A]>[B]

© [Al<I[B]

(D) In all cases

B1MCS5S



58.

59.

61.

62‘

A CwmgEy

(A) CgH;;05N
®B) CeHO,
(©) C(HNO,
(D) CygH;gN;06

maﬁﬁﬁﬁaﬁaﬁﬂﬁ%
(A) D -
B) C

© B,

(D) wifers et

@ febe @ g v e
 HEAT IR

A) A
(B) B
©) C
D) D

;zﬁaﬁ#mﬁﬁﬁmmm

(A) A
®) By,
© B,

®) C

st 3 wrewrver i S el ¥
(A) HSO‘
(B) SO,
(©) SO,
(D) SO

A E

(A) 3 foenies @R
B) 4 et @em
©) 6Tt wRR
D) 12 Freafres @R

BIMCS
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65.

67.

w AR st & e
e 3 AR e P T

(A) -C=N

- (B) -NH,

(C) -OH
®) -0

T FEEE A § C = 40%,
H = 6.66% 3R 9 0 & | afw &
et G ¥
(Ay CH,0
(B) CHO
(©) C,H,0,
(D) CH,OH

S

| maﬂﬁm(ﬂwaﬁﬁmm)ﬁnﬁwﬁa

AR e ey swwer: €
(A) 39,39
B) 39,53
©) W wa
D) 78, %

A et §, fre s N ek S 26
# sfef SR d @raay:

(A) AgNO,
(B) FeCl,

(C) Na,S

CH, COO\

®) CH, C0O /

w ficke S afifn & ek = ¢

IR A 3K B IFi R

a(a x)’
EATE

A) [A]=[B]
B) [A]>[B]

- (O) [Al<[B]

(D) uit ufifeerfert §



ot

69.

71.

72.

73.

100 ml H,O and 50 ml ether were mixed -

with Succinic acid. At equilibrium, ether

phase had 0.127 g and H,O phase had

- 1.843 g Succinic acid. The distribution
constant of Succinic acid between water-

ether
(A) 7.25
B) 14.50
(C) 3.62
D) 10

The Van’t Hoff factor of benzoic acid
solution in benzene is 0.5. In this
solution, benzoic acid

(A) Dissociates

(B) Forms dimer

(C) Remains unchanged
(D) Forms tetramer

pH + pOH is equal to
@ o0

B) 7

©) 14

D) 10

N

In DNA, the complementary base pairs
are

(A) Aand T, G and C
(B) Gand A, Tand C
(C) AandT,Gand U
(D) Uand A, Cand G

At what temperature a reaction will be at
equilibrium at 1 atm if AH and AS are

30.58 kJ and 66.1 JK™! respectively ?
These values do not change with

- temperature in any significant fashion.

(A) 4202K
(B) 462.6K
(©) 429K

D) 642K

16

74.

75.

76.

78.

79.

10 g hydrogen is ‘reacted with 64 g

oxygen. The amount of water formed

~ will be (in moles)

A) 3
B) 4
©1
D) 2

In Freundlich adsorption isotherm, the
value of ;ll'is betwegn

(A) Oand1

(B) Oand0.1 =~

(C) 2and4

(D) 1and 10

Dettol is a mixture of .+
(A) Terpineol and bithional

(B) Chloroxylenol and bithional

(C) Chloroxylenol and terpineol
(D) Phenol & iodine

What is not produced within human
body ?

(A) Vitamin
(B) Hormone
(C) Enzyme
(D) DNA

Which one is an anti-histamine ?
(A). Chloramphenicol

(B) Diphenylhydramine

(C) Norothindrone

(D) Omeprazole

Waxes are
(A) Hydrocarbons
(B) Esters
(C) Amines
(D) Fatty acids
BIMCS



69.

70.

71.

7.

73‘

100 ml H,0 3t 50 ml ¥R & Wb

et ot b fmar o | WP W W
= wa #0127 g IR H,0 R wa *

1.843 g i 1T URm TN | SdR -

¥ W wirafE st 1 yaor o &
(A) 725
(B) 14.50

(C) 3.62

D) 10

At ot B A e o o A A
T 0.5 & | 79 faera |, ai v
(A) Pt

®) R |

(C) sraRtafia wart |

(D) ZFCFY |

'pH + pOH T ¥

A) O

- ® 7

©) 14
®) 10

 DNAd g argw §

(A) AFRT,G3ARC
(B) G3RA, T3IRC
(C) ASRT,G3RU

(D) UdRA,CcarG

w.aﬁfﬁmﬁwmq:mw
it ? ¥ 1 atm ¥ 3R AH 3R AS ¥ =

&AW 30.58 kJ M 66.1 JK-1 & | g um

g ¥ A el ot e wv F afe et
T | A

(A) 4202K

- (B) 462.6K

(© 429K
(D) 642K

BIMCS

74.

75.

76‘

1 m

8.

-79.

10g3@ﬁ364mm%m

- affr W e e SR (R ) 2

A 3
®B) 4
© 1
®) 2

dreefire st e £ o
dadame: .

A) 03R1

B) 03R0.1

©(©) 23R4

(D) 1310

¥t v Poysor & T
(A) e it AT

. (B) TARHRHT SR e

() FeRdeH s it
(D) e 3R e

A R Rt SeRe W w7
A) fefm |

- (B) #WH

©) T
(D) DNA

o e E 7
(A) FARTEHFEHICT

(B) EfFTERTEEER
(©) itrgH

(D) Sfimier

Lt

(A) TEGHE

(B) WX
©) wim

(D) T T



'80.

81.

82.

85.

Which one is a set ofisoelectronic

species ?

(A) N,, CO,,CN-
(B) N,H,S,CO
(©) N,,CO,CN-
(D) Ca,Mg,Cl

The sdlutidn of this compound will show

‘maximum ionic conductivity :

(4) K,[Fe(CN)]
(B) [Co(NH,)¢ICly

(©) [Cu(NH;),ICL,

D) Ni(CO),]

Which one is paramagnetic ?
[at. no. Cr= 24,Fe =26]
(A) [Cr(CO)]

®) [Feco)]

© Fe(CN)GI®
(D) [CrNH,)a**

Which is paramagnetic ?
@A) CLO

®) Cio,

© CLO,

@) CLOg"

If saturated solution of Ba(OH), has pH

of 12, its K is

(A) 4x105M3
B) 4x107M3
(© 5x105Mm3

D) 5x10°7 M3

Pure water can be obtained from sea
water by

(A) Centrifugation

(B) Plasmolysis

(C) Reverse Osmosis

(D) Sedimentation

86.

87.

89.

90.

Standard electrode potential is :
Fe?*/Fe, E° = - 044, Fe>*/Fe?*, E° = 0.77
If Fe?*, Fe** and Fe blocks are kept
together, it will lead to
(A) increase in Fe>+
(B) decrease in Fe3* |

2+
© to

(D) Fe?* decreases

remains. unchanged

“Which will have highest number of -

isomers ? :

(A) [Co(NH,),CL)]
 (B) [Ni(C,0,)(en),I™

(C) [Ni(en)(NH,),1**
(D) [Cr(SCN),(NH,),J*
The rate ﬂ.d]%l for reaction 3A — 2B is

equal to

_3d)
A) "2

@ 248

3 dt

1d(A
© 3%

d(A)
D) +2 dt

Which one has p, —d, bond ?
(A) NO,

®) 07

(©) BO7
D) Co;?
Serpeck’s process is used for bauxite

which has following main impurity :
(A) SiO,

(B) Fe,0,

.(©) Fe;0,

(D). CaO

BIMCS



80.

81.

‘82.

83.

84.

85.

ek wsﬁagrﬁa;ﬁsﬁﬁ A % ?
(A) N,, CO,,CN~

(B) N,H,S,CO

(C) N,,CO,CN-

(D) Ca, Mg, Cl

W A & o e swERE
TeTehaT @R ;

(A) K,[Fe(CN)g]

(B) [Co(NH,)ICl

(©) [Cu(NH,),ICL,

(D) [Ni(CO),]

T A B ST § 7
[TRETY] S91% Cr = 24, Fe =26]
(A) [Cr(CO)¢l

(B) [Fe(CO)s]

(©) [Fe(CN)gl*~

- (D) [Cr(NH,)¢l** -

A STEIAE 7

(A) CLO.
(B) CIO,
(©) CL0,
(D) CL,0q4

afk Ba(OH), % dqw foera %1 pH = 12
g W%Ksp HAAE:

(A) 4x10°9M3

(B) 4x1077 M3

(C) 5x10°5M3

D) 5x107 M3

T @ W E I I W e
THAT Y

(A) JFRpIeE

(B) wSHIETRGH

(€) Faw st

(D) dfeR=vm

BIMC5.
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86.

87.

88.

89'

O iR v

Fe?*/Fe, E° = — 0.4, Fe3*/Fe?*, E° = 0.77
iy Fe?t, Fe3+3ﬂTFea?*w“ﬁ$@WT@
T T ;

(A) Fe3* 3T |
(B) Fe3twam |

Fe2* ¢
© & 3+a1qﬁaﬁ|arsar%|

D) Fe2+a%m |

frrd R ma: awﬁarcrq mma“r z’rﬁ ?
(A) [CoNH),CLI

®) INI(C,0,),(em,] 2

©) INi(em)NHp, 2 - v

‘(D) [CHSCN,(NH), I

3A — 2B aﬁqﬁfmﬁwuw%

3
w4

2d(A
® -39

3 dt
(D) +29%‘%1

fewip, —d T2

 (A) NOj

(B) SO;*
(©) Bo;3
(D) CO7’

Wﬁﬁrwm%sﬂwﬁmﬁ

(A) 8102
(B) Fe,0,

(©) Fe;0,

(D) CaO



91,

9.

93.

95.

- (©)

An ideal solutlon is formed when its
components :

(A) upon mixing show no change in
volume.

(B) upon mixing show no change in
enthalpy.

(C) upon mixing show nelther change
in volume nor enthalpy.

(D) show high solubility. -

Which one of the following -have
same Van’t Hoff factor as that of
K, [Fe(CN)] ?

(A) Al SOy,

(B) NaCl
(©) AINO,),

(D) Na,S0,

How many kg of O, will be required for

complete combustion of 2.8 kg of -

ethylene ?
(A) 2.8
(B) 64

(C) 9.6

D) 96

The number of moles of KMnO4 needed

to react w1th 1 mole of SOZ' in ac1dw' '

- solution is

- (A)

®B)

= v e

D) 3/5

Acetylene has following ' bonds between
the Carbon atoms : |

(A) lo,2n '

(B) 3o

©) 3=

D) 20, 1n

) 96.

98.

100.

At CMC, surfactant molecules :

(A) Hydrolyse

(B) Dissociate
(C) Associate
(D) Dissolve cdmpletely

For the reaction CO(g) + Cl2(8) T
COClz(g), KPIKC is equal to

(A) VRT

" (B) RT

© =
D) 1.0

The conjugate base of OH" is
(a) o

-(B) O

© HO
®) O,

The precipitate of CaF, (K, = 1.7 x 10719
is obtained when equal volumes of the
following are mixed :

(A) 10-‘M cg2+ +100MF
B) 102M Ca?* + 10-3M F~
(© 10°M Ca?* + 10°3MF

(D) 103M Ca?* + 10 M F-

hWashing Soda is

(A) Na,CO, - TH,0
(B) Na,CO; - 10H,0
(C) NayCO,-3H,0

(D) Na,CO,

BIMCS



91.

92.

93.

9.

9s.

wmm%ﬁtﬂmﬁmm
A) fem w I o g wRad aﬁ
il ‘

@) P w e § o o

e |
(€) frem W s A wdedt § W
aRed= =& & |

(D) e T w TR EE E |

e # ¥ frrm A @ e
K, [Fe(CN)(] ¥ @aH @M ?

(A) Al(SOp;,

(B) NaCl

(C) AINO,),

(D) Na,SO,

2.8%%%@«#%%@%#

- e 0, % sterve it 2

(A) 2.8
B) 6.4
(©) 9.6
(D) 96

SO} % U Hit & W e wA F

e KMno, ¥ frR W =T ok
afufrar spefg fremr g dwrsme e

A)

B)

©
D) 3/5

Y V[ ST YE S

Qﬁ%@ﬁ#ﬁﬁ?ﬁqm@%ﬁaﬁw
T e ¥

(A) lo,2r

‘(B) 30

© 3rn .
D) 20,1n -

BIMCS
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98.

@ @ W g S
(A) TEled & S & |

B) Tagfma @ e € | |
(C) gfimmasmE |
(D) ofa: SeTeiieT & ST § |

AT CO(g) + Cly(g) === COCly(g)
& T Kp/K o TR & T
(4) VRT |

(B) RT
© 7%

(D) 1.0

OH~ %1 Gt &R& &

(A) O*

(B) O°
©) H,0

® O,

CaF, (K, = 1.7 x 1071%) 31 s sy
ﬁmuﬁﬁﬂ%mﬁmﬁmﬁqm

‘ﬁﬂT?ﬂTQ'

100.

' (A) Na,CO,-

(A) 10-4M Ca?* + 10-*M F~
(B) 102M Ca?* + 10°M F-
(C) 107M Ca?* + 10°MF
(D) 1073M Ca?* + 10°°M F~

oTa et ¥

' TH,0
(B) Na,CO, - 10H,0
(©) Na,CO,-3H,0

(D) Na,CO,4
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©

Roll No., Examination Centre and its Code and Test Booklet No. should be written on the Part-I of the Answer
Sheet in Computerised format. The Digits should be written in topmost boxes in Blue / Black ball point pen and the
circles corresponding to the digits be blackened with Blue / Black ball point pen only.

WW%W—I%%&EMWNW/mﬁﬁwaﬂs/wﬁmmaﬁmmﬁmmw ,
FEE-T YRR/ W | SR I <R @ o mmw&zwaﬁ%/mmﬁﬂ%aﬂrmfﬁﬁﬁ
Tl fieh / weft S Edz = A W

Example : If Roll No. is 179682 and the Question Booklet No. is 14390, then

w0 gxdmee 17968200 @ rle-gfiere et 14390 &,
1[7]9]6[8]2] ’14‘3_9_0
QEEEEE QEIEIEIE
P|0|10|0|0]|0] ®|0|0|0|@
PO|O|0|0|®|0] PIO|0]|®0|®
PO|I0|0|0|®] 109|000
®OlO|0|60|0|6 OO [GRIOX[O)]
C|IO|C0|0]|0|6 O|leO|I®|e|®
O|le|0|0|0|0 100|000
o|leo|eo|®|e|® LOJLOXORIOX O]
o]0} { JIORO (O] ®|oi®|e|o
ole|e|o|e|®]| ole|o|o|e

Process for Filiiﬁg up OMR Answer-Sheet (Fa-qwes urs-II v o i)

. . The questions are multiple choice type. Each question is provided with a number of choices of Answers, out of

which ONLY ONE is MOST APPROPRIATE. The candidate must blacken the appropriate circle provided in front
of the question number, using Blue / Black Ball Point Pen only. If a candidate uses the pencil for datkening the
circles on the answer-sheet his/her answer-sheet will be rejected.

e g-fred W ¥ lmm%m&&w&ﬁmwﬁﬁﬂmwﬁmm% | el = e
T % e ST forehed & e & gt et w8 el / et dier @ 39 X @ o E | AR o seivar
et B et F T ¥ A ST SR-uTE W @ w1 e wmw

Example : If correct answer for question no. 7 is the choice ‘B’, then darken the circle in froat of question no. 7 as

- shown below :

T uﬁmm7%mﬁm‘3’ﬂﬁw%a‘rmm7$mﬁ%wﬁwﬁﬁﬁ=ﬁ%&m&ﬂﬂm ‘

2.

tuc

Q. No. 1 @@@
Q.No. 2 ®e 00

QN7 @O0
(a) The c;ircles, as described in C-1 above, are to be darkened by .using‘ Blue / Black Ball Point Pen only.
() IR F C-1 3 TR T SER T W et / e At e A o Y |
(b) The shading should be dark and should completely fill the ciréle.
(@) 7iet #t qoiET | 70 & o g e |

Conﬁnued on the next page.
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(c) Only one circle correspondmg to the correct answer should be darkened as shown below

() T SR & W et T A T O A i o A R Ty

Correct / T&t ‘*" 9 0 0 . .
Incorrect /T A @ @O o OPOO® « O@OO® o @ @@ ©
Tncorrect / T @.‘@ o O OO o @.@@ or @‘."@

(d) The candidates must fully satisfy themselves about the accuracy of the answer before darkening the
appropnate circle using Blue/Black ball points pen as no change in answer once marked is allowed. Use of
eraser or white / correction fluid on the answer-sheet is not permissible as the answer-sheets are:machine
2radable and it may lead to wrong evaluation.

YA ”"mﬁaﬁﬁﬁIWWWWﬁvﬁ@%ﬁquﬁwgﬁﬁaamﬁ%&m%ﬁw
e @ TR R TRl it et F T A A ufads e o | STReEE § R e e
W‘:@r#ﬁuzﬁaﬁeﬂmﬂﬁﬁﬂﬁtaﬁﬁswmaﬁnﬁwmqﬂmmm%aﬂrﬁwmw
et o o & gt ¥

(e) IFmere than one circle is darkened using Blue / Black ball point pen or if the response is marked in any other
- méasinér or as shown in “Incorrect method” above, it shall be treated as wrong way of marking.

(y)"nﬁ“qzb“ﬁ i TR B el / el ST e Fe R T SR T Se% R mm@ mwﬁwﬁnﬁ
- T At & et R AT At 3R T #RR R S

Rongh work must not be done on the OMR answer-sheet. Free space provnded in the question booklet should only
- be uséd for this purpose.

Wmmmmmmﬁﬁﬁm% | 9 TR Wﬁmmwﬁﬁwmﬁmw% Uik
maﬁ |

‘Bsr’éode” printed on the Answer Sheet must not be tampered or in any way marked; otherwise the candidature
< will berejected.

mamww&‘mm’w%ﬁrwamﬁmm aﬁ#mmsﬁfm’tmwfeﬁaﬁ'aﬂwfaﬁﬁ%im
e W s v R S |

o 'Candldatb -must not leave any mark of identification on any part of the Answer Sheet except Part-I of the OMR
. Answet Sheet as this may lead to disqualification.

| "w%%wé-l%aﬁﬁwnwﬁmﬁmwwﬁmﬁmwﬁmwﬂﬁwqﬁ%mwﬁwﬁ%
“-ﬁw%ﬁmwﬁwmh ‘ '

.. ‘Foﬂ}enﬁcanon of your handwriting, it is necessary to write the prescribed Text completely which is printed on the
“ back s;tdc"o‘f the Part-I of OMR answer-sheet and also put your s1gnature on specified space in Hindi & English
otherwise your answer-sheet / candidature will be rejected.

FTALAR. FECTHH H -1 F 78 7 sifiee mier w FRergar st sttty 3 qof w1 & frast s o samm
<l e st e T Tt | wey wifer o foAg 9 SRt & | S e W S Se-ah / Sl
T 7T o R SR
.. In caSc you -do-not follow the instructions as given on the backside of OMR answer-sheet, your answer-sheet is
- liable ®be'rejected for which you yourself will be fully responsible.
e e s .o %wm%wmﬁﬁ&ﬂﬁﬁhﬁwmﬂﬁﬁm?ﬁmwwmﬁwwm
"%Wﬁwkquﬂmﬁm@ﬁﬁ 1
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